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FFT integer analysis
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x 107 FFT integer analysis
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42 FEEF A H

sty = PRDLERY Il

?{%ﬁ? }"}[8210 FIJ
BEFAAFT AT 497
Testing Data
Content B

Speakers 8 Males and 2 Females

Sample Rate 16 kHz

Bits Per-sample 16 bits
Total 3210 Files = 4.5 hours

-

# & F#cAl i MFCC & # 3R 2 SFgo dicdp d 55 FTa[9]##F -2 ¢ FFT

1 SF=2% (F 42 =% 5 0 pF > ok SF ) ¢

\ ik | PP FFT 2 A ¥ AR E | DCT | Hii

SF 214 214 212 211 1846 eﬁ

4 4-3 K #ic3] i MFCC £ 4 ¢ 2 SF @ (TCC300 3 #2)
APERATI I RS 2 A S Bl TR T R s TR e

T & A7 o (R E CPU 5 Intel® Pentium® M processor 1.73GHz)

Float FFT | FFT1 FFT2 FFT3 FFT4 FFTS
FEE 95.58% 0.031% 80.53% 78.89% 79.19% 81.34%
RS 2 256 256 512 18 128
Ry £ 1.5k bytes | 1.7k bytes | 3.29k bytes | 0.29k bytes | 0.95k bytes
PP R 1934sec | 2312sec | 1942sec | 1941 sec 1942 sec 1940 sec
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